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Subtraction -1

1. If a number is subtracted from itself, then the result is

a) Number itself b) Zero

c) 1 d) None of these
2. be added to 186784 to get 399821.

a) 212037 b) 214037

c) 223037 d) 213037

3. The number 1 less than 100000 is ?

a) 100001 b) 99999

c) 99990 d) 999991

4. What should be subtracted from 823824 to get 5017867
a) 322038 b) 222038
c) 233038 d) 322039

5. A school has ¥ 5980312 in the bank, they have spent ¥ 1260356 on school building renovation.
How much money remain in the bank now?

a) 4729956 b) 4719956
c) 4739956 d) 4619956
6.99999 - =99999
a) 1 b) 2
c) 0 d) None of these
7. 1 7 5 2 6
' LIl
1 2 6 3 0
a) 4896 b) 4890
c) 4869 d) None of these

Copyright © 2019 LetsPlayMaths.com. All Rights Reserved.



LetsPlayMaths.com

3 2 8 6 2 4
a) 602984 b) 601984
c) 610984 d) None of these
9. How much should be added to the sum of 77515 and 326812 to get 500000?
a) 94673 b) 96673
c) 95673 d) 97673
10. By how much is the sum 25817 and 357781 greater than the sum of 23522 and 3423367
a) 17740 b) 16740

<) 15740 d 41740
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